
Lösung Problemschachaufgaben Dezember 2021 

 1.                                                2.                                            

 

                  Matt in 5                                     Matt in 3                                

      

Lösung Aufgabe 1: 

1. Kh5 La2 2.Kh6 Lb3 3.Kh7 La4 4.Kh8 Lxc6 5.Dh7#   

Lösung Aufgabe 2: 

1. Ke2 - f1D+ 2.Ke3 und Matt durch L/T Abzug / 3.d4 

        - Kd4 2.Tf4+ e5 3.Sxg3# 

        - Kxe4 2.Ld3+ Kd4 3.Tf4# 

        - cxd2 2.Tf3+ Kxe4 3.Ld3# 

     


